1F 2G 3L 4C 5F 61 7G 8D 9H 10K [11A
. 12F 13K [14A  |151 16G (17D |18B 19G  20] 21B 221
23D [24] 25K  26L |27B  [28A |29E 30H [31M . 32H 33C
341 35K [36G  |37M (38D |39M 40H |41G [42L |43A
44 |45] 46E  47TM 48A  49G 50K 51C |52M  |53E
54F 55K 56] 57F 58C [59M |60H [61B  |62E 63D |64L
I
65B  |661 67A |68M |69G  [701 71E 72] 73D [(74H [75B  [76C
77C  [18F 791 80L 81F 82H |83B 84M [85C [86A 871
88E 89L 90M 91D [92B |93E 94] 95F 96L 97C 98K
A. Wild -
14 48 28 67 86 11 43 Jeason’s
B. Titanic e .
92 61 21 27 83 18 7565 '-QW
C. Domestic -
97 58 4 33 8 77 76 CROSSTIC 2012
D. Everybody has one... _—— Shorter! Smaller! Easier?
23 91 17 73 38 8 63
) Just answer the CLUES
E. Come again? I S (A through M), then transfer
93 46 53 29 71 62 88 each letter (e.g., E-62) to the
F. Labor corresponding square in the
54 78 1 8157 5 95 12 | GRID(62-E).
G. 50°43'N. 5°55'E Work both directions,
6 @ 41 7 2 1949 16 | Usingpieces you have
) solved to help you guess
H. Actions - more of the puzzle.
© 60 3274 9 82 40 30 Bonus prize: The first
I. Post-It e column of number-blanks
34 66 70 15 87 79 6 22 (reading downward) will
. reveal the author of the
J. DI'GSSCS, Slmply - uote in the puzzle
94 45 72 56 24 20 q puzzie.
K. Boor or Boo-er - -
13 35 10 98 50 55
L. Aubergine e
26 3 64 80 89 42 96 44
M. Beatles 1965 release




